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PTed - w8 -1 -8 -2 - Set-W-1

Non-verbal Tests are meant for

1
2
3.
4

Uneducated children
All illiterates
All persons

Literates
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Concept of ‘Object permanence’ is formed at this stage

> w e

Pre operational stage
Sensory Motor stage
Concrete operational stage

Formal operational stage
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One of the following is not the Characteristic feature of growth

1 It is quantitative

2 It is one of the parts of development
3. Does not continue throughout life

4 It is comprehensive
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Chaitanya wants to oppose his boss but he is scared of loosing his

job — here the conflict is

1 Approach - Avoidance
2 Approach - Approach
3. Avoidance - Avoidance
4

Dual Approach - Avoidance
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The girl who did not get seat in Engineering, supporting herself that
the teacher training course that she joined is better one, since people

who have done Engineering aren’t getting jobs. This is

1 Compensation

2 Rationalisation
3. Displacement
4

Projection
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A child acquired good singing voice from his parents, and with
proper training and encouragement he became a good singer —

Developmental principle involved here is

1 Development is an interaction

2 Development is cumulative

3. Developments proceed with interrelation

4 Development proceeds continuously
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A boy wants to get good marks by studying well. But with due to
sufficient intelligence he is unable to achieve what he wanted — The

obstacle faced by the boy is

1 Physical

2 Mental

3. Physical Environment related
4

Social Environment related
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The aspect which is not related to the socio-cultural factors that

affect personality is

1 The language used in the society in which the person grows
2 Teaching attitude of the teacher

3. Parenting styles of parents

4 Endocrine glands in the body
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In this developmental stage ‘Ramya’ is facing acute mental stress

due to changes occurring in her body.

Late childhood
Adulthood

Early Adolescence

> wnpoE

Late Adolescence
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Morality of a child who does whatever his teacher tells him to do,

because he wants to be called as a good boy by his teacher at this

stage

1 1% stage - Pre-conventional level
2 4™ stage - Conventional level

3. 2" stage - Pre-conventional level
4 3" stage - Conventional level
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The aptitude test which is developed based on Thurstone's

Intelligence Theory of Primary Mental Abilities

1 Teaching aptitude Test

2 Metropolitan Readiness Test

3. Meir — Seashore Art Judgment Test
4 Differential Aptitude Test
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12.

13.

The group which is not affected by experimental conditions of an

experimenter

Control group
Non Random group

Experimental group
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Random group
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Sumanth is a very good Shuttle Badminton player. Now he wants to

learn to play Ball Badminton. Here the type of transfer of learning is

1 Positive transfer

2 Negative transfer
3. Bilateral transfer
4

Zero transfer
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Rajesh remembers any aspect after thorough understanding. His

memory is

1 Logical Memory
2 Rote Memory

3. Passive Memory
4

Sensory Memory
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An example for a pair of words used to assess memory using paired
associate method
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1. CAT - XXZ

2 BALL - TUX

3. BILL - WILL
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The process of recalling earlier incidents through symbols and

stimulus is called

1 Recognition

2 Redintegrative memory
3. Relearning
4

Long term memory
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“The theory of Hierarchy of Needs” was proposed by

1 Maslov
2 Pavlov
3. Mc Cleiland
4 Atkinson
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According to Vygotsky, Higher Mental function is

Comparing
Questioning

Observing
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Reasoning
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Bandura opined that the observational learning will takes place

through two mental processes. They are

1 Identification, Internalization

2 Internalization, Repression

3. Spontaneous Recovery, Extinction
4

Identification, Displacement
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20.

21.

Author of the Book “Mentality of Apes”

1
2
3.
4

Kohler
Piaget
Thorndike

Skinner
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A student, who developed fear on a teacher, is showing fear not only

on seeing the teacher but also seeing the objects used by that teacher.

This is due to

1 Extinction

2 Spontaneous recovery

3. Generalization

4 Higher order conditioning
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22,

23.

One of the following belongs to psychomotor domain

1 Receiving
2 Valuing

3. Naturalization
4

Characterization
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‘Acceleration’ is the educational programme of

1 Mentally retarded children
2 Gifted children
3. Hearing impaired children
4 Learning disabled children
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24,

25.

The following statement is not correct with reference to co-operative

and collaborative learning.

1 Experiences shared among students

2 Relations developed among students

3. Maturity developed due to sharing of thoughts

4 No scope for higher order thinking skills and knowledge
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The following programme is useful for taking school into Society

1 Parent Teacher meetings

2 Celebration of different festivals in the school
3. Arranging speeches with experts in the school
4

Organizing Swatch Bharat by the school in the village
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This aspect is not mentioned in Bruner’s theory of Teaching.

1 Motivation

2 Analysis

3. Instructional order
4

Intuitive thinking
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27.

28.

The aim of mind mapping in the period plan

1 Evaluation

2 Recapitulation

3. Testing previous knowledge

4 Creation of new experiences
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The resource which is not directly related to student teachers

1 In-service Training
2 Field trips

3. Seminar

4 Exhibitions
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29.

30.

The strength of the students in a primary school is 155. The number

of teachers required for this school as per RTE Act-20009.

1
2
3.
4

05

04 + Head Teacher
05 + Head Teacher
03 + Head Teacher
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Allotted weightage to the slip test in formative assessment is
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40%
30%
20%
10%
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61.

62.

63.

64.

English — Paper —I — Set - 2

Thereisnocashin ................. hand.

Choose the article that fits the context.

1.

2
3.
4

a
an
the

No article is needed

Identify the simple sentence.

1
2
3.
4

He went to bed
He went to bed as he was tired
He was tired and he went to bed

He went to bed because he was tired

Choose the sentence in the present perfect tense

1
2
3.
4

| have a red book.
She has a broken chair.
Has he just finished his work?

She has a finished project in her hand.

Hari said to himself, "What is this ?"

Choose the correct reported speech of the sentence.

1
2
3.
4

Hari said that he was that.
Hari told himself that was what.
Hari told to himself that was what

Hari asked himself what that was



65.

66.

67.

68.

When did you see him at home ?

This sentenceisin :

1
2
3.
4

The past perfect tense
The present perfect tense
The simple present tense

The simple past tense

| found him copying from others.

In the above sentence, ‘copying' is:

1
2
3.
4

a present participle
a past participle
a gerund

a helping verb

As he was late, he missed the bus.

This sentence has :

1
2
3.
4
Choose the correct noun phrase with the right order of adjectives.

1
2
3.
4

an infinite clause
an adverbial clause of reason
an adverbial clause of time

a defining relative clause

a red of birds pair
birds of red pair
a red of pair birds

a pair of red birds



Ifshe ....cooeveeenel , | can lend her.
Choose the correct expression to complete the sentence.

does not have enough money
did not have enough money

does not have money enough

> W npoE

did not have money enough

lhad ................ arrived at the station when the bus came in.
Choose the word to complete the sentence meaningfully.

1 hardly
2 enough
3. after

4 had

In spite of his poverty, he completed his education.
The meaning of 'in spite of ' in the above sentence is:

1 earlier than something
2 earlier than somebody
3. disregarding the difficulty
4

in the event of

If Mother Terresa ............ alive today, how would people receive
her ?

Choose the correct word to complete the sentence meaningfully.

was
were
has
had

> W e



73.

74.

75.

76.

| have completed my work, | went to bed.

These two sentences can be combined as:

1
2
3.
4

Going to bed, I have completed my work
| went to bed to complete my work
Having completed my work, | went to bed

To go to bed, | complete your work

Choose the correct "Yes / No' question.

1
2
3.
4

Does he do this regularly ?
Does he did this regularly ?
Does he does this regularly ?

Was he did this regularly ?

Choose a sentence with a defining relative clause.

1
2
3.
4

The boy, who is there, is my brother.
Suneetha who is my friend is with me.
Being a friend, Suneetha is with me.

He is late because he missed the bus.

lamnotastudent, .........c..oeen.

Choose the correct question tag to complete this sentence:

1
2
3.
4

are | ?
aren't |1 ?
am|?

isn'tit?



77.

78.

79.

80.

You should do this now.

This sentence expresses:

1.

2
3.
4

an obligation
a suggestion
a request

a prediction

Choose the sentence that has a noun clause.

1
2
3.
4

She said that she was ill.
That was not my aim in the examination.
A red cap is seen there.

Giving is getting happiness.

Choose the correct spelling of the word.

1
2
3.
4

buffeloo
bufello
bufelloo
buffalo

Choose the sentence in passive voice

1
2
3.
4

He was born in London.

He came here by car.

He got the job by means of his skills.
She was great by birth.



[ 81 — 83] — Read the following passage and choose the correct answers to

81.

82.

the questions given after.

Courage is not only the basis of virtue; it is its expression.
Faith, hope, charity and all the rest don't become virtues until
it takes courage to exercise them. There are roughly two types
of courage. The first an emotional state which urges a man to
risk injury or death, is physical courage. The second, more
reasoning attitude which enables him to take coolly his
career, happiness, his whole future or his judgment of what he
thinks either right or worthwhile, is moral courage.

| have known many men, who had marked physical courage,
but lacked moral courage. Some of them were in high places,
but they failed to be great in themselves because they lacked
moral courage. On the other hand | have seen men who
undoubtedly possessed moral courage but were very cautious
about taking physical risks. But | have never met a man with
moral courage who couldn't, when it was really necessary,
face a situation boldly.

A man of courage is:

1
2
3.
4

cunning
intelligent
curious

careful

Physical courage is an expression of:

1
2
3.
4

deliberation
emotions
uncertainty

defiance



83.

84.

85.

86.

87.

A man with moral courage can:

1
2
3.
4

defy his enemies
overcome all difficulties
face a situation boldly

be very pragmatic

The antonym of 'massive' is:

1 huge

2 brave

3. small

4 timid

The method of teaching English adopted at present in school
curriculum is:

1 The Direct method

2 The Grammar method

3. The Functional Communication method

4 The Translation method

The term ' communicative competence’ was coined by:

1
2
3.
4

Hymes
Chomsky
Canale

Swain

According to psycholinguists, 'lisping stage' is:

1
2
3.
4

36 to 60 months
25 to 36 months
19 to 24 months
0 to 12 months



88.

89.

90.

The following is true regarding 'Noam Chomsky'.

1
2
3.
4

He is a Psycholinguist.
He is a Behavioural Psychologist.
He is a librarian.

He is the writer of 'The Language of the Crib'.

This does not include the mechanics of writing

1
2
3.
4
The following method stresses on the spoken Languages:

1
2
3.
4

Handwriting.
Spelling
Punctuation

Grammar.

The Reading method
The Grammar Translation method
The Psychological method

The Communicative method



91.

92.

93.

Paper-I - Set-XXX - Maths

The number formed by adding the largest number formed and the

smallest number formed using the digits 8, 4, 1, 3, 6

8,4, 1 3, 6 00 &TrA0W (ALK DG Doy S0
VENR) DOPFL I G0

1 99899
2 89999
3. 99989
4 98999

Write the number 5672 by changing the place value of 7 into

thousands place and 5 into tens place, the number formed is

5672 &5 (F°050008” 7 50 FJ0PSI0E0 5 80 DHe PS50
S0 (TP DY By

1. 6752
2. 2756
3. 7652
4. 5672

If 625 is subtracted from a number we get 375. If 600 is subtracted

from the same number, the number obtained is

2.5 VOoPE0d 625 &132s 375 SE). 9% RoP§R06
600 55 XIS Si%) dos

1. 300
2 400
3. 500
4 600



. . . 1 .
The number of times you require to fill the 25 litres can

with 1 litres can.
4
2% dexy (S % . ZSS° 0IEAS VY YT Fo7d?

10

1
2
3. 8
4

The shortest path of all the lines joining two points is

1 curve
2 straight line

3. ray

4 circumference

B0 DOHPOD ST o) ErSsned” S5 5 Ervsn Sod

1 N{SeE

2 NleLTor

3. Hefar NV

4 DHepFos



96.

97.

In a graph paper there are 16 squares in a row and it has 9 rows and
in another graph paper there are 15 squares in a row and it has 5

rows. The total number of squares in the two graph papers are

2.8 TS D060 2.8 SIS 16 SE0ves Gamow. werod 9
S KoY. DEE PHosES0 a8 SHHS° 15 S oPR0T000.
03D 3 & 5 SED0 KO, B80S BOE (PR IDT S Ko
S0GI BET°® BOPS

1 144
2 75

3. 219
4 200

The 24 hour clock shows the reaching time of Visakha Express from
Hyderabad to Vijayawada as 22 hrs. 15 mts. The time read in 12

hour clock is

24 Koo K&EXTrS0S” ey IEYRS TETerd $0é Juahae
3B DJoAs) 22 Kon 15 A e SrHoR08. ©owsS 12 Kowe
KEASTE50S° e HSo0%S»

1 10.15 PM
2 12.15 AM
3. 12.15 PM
4 8.15 AM



98.

99.

The side of a square sheet is 2 m. The number of bricks required to

spread on the 4 sides of the square with 25 cm length

28 BSOS Y en 4Hesn 2 D. ©00S 2.5 5K B 25 0.2.
FEINO FENEOD A TP WODHOToRE DE)LE SPHODT

RIS 60335
1. 8

2 16

3. 30

4 32

A polygon is said to be a regular polygon when

1 all its sides are equal and all its angles are equal
2 all its sides are equal but angles are not equal

3. all its angles are equal and sides are not equal
4

all its angles and sides are not equal

2.8 2050202 (E020T0802 9 B?éo)cz"fi)é SIS, €3 2TV
&aﬁb

1. o) aheren JIFSONT &o& o) EPeeen DSTSONT

éé&:@o)ci)

2. o) shren DSrSo 6od o) Seren dSrSor
éé@o)cio

3. o) Eeren HIPSOM &od o) theEren DIFIo
éé@o)cio

4, o) Sfezeen, o) aheren VITSo 635:@03653



100. In the number 473240092 difference in the number which is at

millions place and hundreds place

473240092 050t WIS 355;53366 Ko 00958 Sote
a;asoess Ko Bopg Ko i fes)

1. 2
2. 4
3. 3
4. 0

101. Express 1 km in millimetres,
13.20.0 YWeys® SgEsesm

1 1000

2 1000000
3. 100

4 10000

102. Find the smallest number that can be subtracted from 9342 so that it

becomes divisible by 4

9342 Sogpg 4 B AHAIOA GPAODEODH TPAZ0E VIAHESAS
@@5)‘6& 260&)5

1. 2
2. 0
3. 1
4. 4



103.

104.

105.

If the side of a square is doubled, then its area will be

1
2
3.
4

halved
doubled
remains the same

increases by 4 times

28 SRR 2zN0 FEIHDH TEBo) BOS T ST

1

2
3.
4

DR
BEIONKS

[A]
e9ETy SO
JPOROBORI

Teja and Roja won a cash prize in a quiz and they agreed to share it

in the ratio 5 : 3. If Teja receives Rs.250, then the share of Roja

Bz, S0 o %Sz%ocia Ga)en TSI STy, ) €
G20 5 1 3 INYS® D0HE DT, B 0.250 SY)S S

;5{’)‘35 JeeI°

1 Rs.100
2 Rs.250
3. Rs.150
4 Rs.400

The number of edges and faces of a cube respectively are
2.8 205005088 9023500, S0PV 602135@3 SEOJ

1
2
3.
4

8,6

6, 12
8, 12
12,6



106.

107.

108.

The area of a triangle when height is 6cm and base is 9 cm
DB 6 0., AT FEY 9 DO.W.MP Ko (@dbe JTogEn

1 27 cm
2 27 sg. cm.
3. 48 cm
4 48 sq. cm.

The exponential form of 432 is
432 &208) JrSBIII0

2 x 3
2° x 3?
2° x 3?
2% x3*

> L poe

The median of 63, 52, 15, 20, 28, 27, 44
63, 52, 15, 20, 28, 27, 44 boaszg@ zsocsagziéaﬁx

1 27.5
2 28
3. 44
4 20



109. The marked price of a wall clock is Rs.1700. The rebate given on
that is 10%. Then the selling price is

2.8 RPEREGCSTrE0 @) (P50S I0 8.1700. I 10 250
8Z3e0 ESE. @008 T WIYEY F©

1. Rs.1610
2. Rs.1750
3. Rs.1530
4. Rs.1600

110. I—é + (x) = (_?12)+(I—§j

=
' 18
, 2
' 12
g 2.1
' 5 18
. 2
' 5
5 3
111 (%] x 274 =
. 1
' 2
2 272
3 2°



112. The representative value of the data among measures of central

tendency is

1 median
2 range
3. mean

4 mode

BT08H0858 (A0 S0T So|BAH FIJenS
1 SNBSS0

2 ;5°§2_oo

3. @O0 Eg0500
4. 2TOUE

113. The following measurements are equal in all the bars in a bar graph

1 lengths
2 breadths
3. areas
4

perimetres
2.5 52y SrdlBod® ) E0 o VIS GG
1 JEH
2 3@5@%)@
3. STT°G
4 iSJé%g?er@o



Xx-4 X+4 x+3

114. - = - X="7?
1. -9
2. 35
3. 4
4. 7

115. To teach the topic “Lateral surface area of a cylinder in 9™ class”,
the TLM that can be selected from the Maths teaching kit is .........

1 Fractional Disc

2 Dominoes

3. Napier strips

4 Solid shaped Geometrical figures

95 SEXBS' “JrH0 (8 B0 PF0” JTo QoKL K3
5755 DBES’08 JoHE Ko EDESer0....

1 Do W(go
2 DS

3. Jnand veen
4

w&i’b@oﬁo BTSN



116.

The unit 'Frequency distribution and Graphs' in class V111, 'Statistics

and its applications' in classes IX and X are included in Mathematics

textbooks of our state. The adopted curriculum organization

approach is.

1
2
3.
4

Topical Method
Concentric Method
Spiral Method

No Specific Method

8 & B518S° By Defess HBen 50k TgrEsere’, 9, 10

B8KHeS '@omééaéo — X8 Toen' % O50eQED S @K@l Kedes
FEFIFOE® FotbHBTD, HAS® BN JTryHerd JHREsen

“

I5Y)
Q@

1

2
3.
4



117.

The topic on “Areas” was taught for class 8 students. Ramu a student
of this class could be able to calculate the expenditure details to

paint his house basing on its area. The objective achieved here is...

1 Knowledge
2 Understanding
3. Application
4 Skill

"DEergen” FB0 85 SEKS IoyReH SR0DBE0B. TN &I
g BS 3083 JTO0 BETTON SI 308 0K €9
P BE) OTKOMED. & FLHOVES OFGI
1 2P0

x
2 ISTVOTS
3. AIB*KO
4 é@m?so



118. The most suitable and best method to teach the properties of

parallelogram...

1 Lecture method

2 Deductive method
3. Inductive method
4

Inductive method with heuristic approach

DTGB DITOSY SSE o700 BRSO 208 JS°

VE0S OEFVFHS IES

1 &R DU
[on]

2 DESHS DL

3. SRS DL

4 6:9303?.3.8’3956 Er&S e35508S 288



119. A test in mathematics was conducted but the purpose for which the
test was conducted was not served. Hence, the test is not having the

following characteristic.......
1 Reliability

2 Objectivity

3. Validity

4 Usability

28 Ke3S DOY A(roDetod. J &B¥oS” & D8Y ISarodedods”

&5 R ITITEBE KDHI0TH. EHE & H8FH BIHS
BOBS s ©FEIN0 BEJ WIOTWSIYowes

1 D%:Séﬁ)o‘joé
2 @gsé&&ﬁ
3. DR Serds
4 TPABTALS



120. Arithmetic problems are taught using algebra to class X students.

The following type of correlation is used......

1
2
3.
4

External correlation with daily life activities
External correlation with other subjects
Internal correlation within the branch

Internal correlation with in a branch in Mathematics

DS STAS ITROLH GOSKAS Vo5, DesKe3e50 3PS50

TRED S R0DBER00. 3B JrHoB VIPH00EO...

1

2
3.
4

K)eﬁagéi)eﬁ WOTOE’ LTTFIITRH020L0

358 JAATTOS® BPRTGIPR0220850

23T’ WOSYS BIHOWOLO

Ke3e50S" DA TPOS” WOBYS HIH0WOE0



EVS - Paper-I — Set-XXX

121. Nuclear family is also called

1 Joint family

2 Combined family

3. Small family

4 Big family

;553§ S6002°) J° ETG° 0L
1. D Kr¢00230

em&& ¥¢0200

71’35& 5200200

WD

¢ 60020
Q

122. Games develop these two important behavioural characters among

children

1 Physique and health

2 Love and affection

3. Performance and values

4 Sportsman spirit and combined effort

S0 SO5 YOS’ Be VO 509 (FSET OFETR0 DB)EE 0.
L ¥0o5)d, &850

B, ergahs

QL)ESO, JeIen

Lol

&m0, BRSSO



123. The neighbouring states of Kurnool district are

1 Karnataka and Telangana

2 Telangana and Tamilnadu

3. Tamilnadu and Karnataka

4 Karnataka and Kerala
SEen B Ko 38T orl e
1. ST, Svorer
SOONET, BAFICD

S FIED, Sloj( M

Ll

Eooens, B8
£9

124. The script of people of Harappan civilisation period is

1 Symbolic script

2 Pictorial script

3. Persian script

4 Sanskrit script

IO SROES S0 (P
L 508 58S 0%

ARNG &eés 535 O
S80S O

L

boé@eﬁo O



125.

126.

Warrior God among the following

1 Agni
2 Indra
3. Varuna
4 Vayu

208 788° Ssibioy B5¢8

1. o)

2 lel(ables

3. SBOEWED

4 AT

‘Home Rule’ movement was launched by

1 Bala Gangadhar Tilak

2 Lala Lajapati Rai

3. Bipin Chandra Pal

4 Bankinchandra Chatterji
0SS &0 (FPEODORSTW
1. ePOROTES HoF

2 SRSUSTORT M erles

3. WS Sos ;S

4 28050(¢S Sexd



127. These hills are located in Kerala state

1 Palani

2 Anaimalali
3. Velikondas
4

Cardamom

B Soen T5¥ m@oé’s &I00

1. DD

2. eas:);i)g
3. IO8°0%
4. Stebtle)

128. Mandal Resource Centre belongs to this department

1 Revenue

2 Panchayat Raj
3. Education
4

Social Welfare

$00&0 35B© o0 Be TP HOWOHOVIE

1. 63‘65"5

2. Howrchdod
3. 3)655

4. FowE S0



129. *‘We can take our own decisions regarding our country’ — this
characteristic of preamble of our constitution represents by this

single word

1 Democratic
2 Socialist

3. Secular
4

Sovereign

533 B¥o K809 SHso Do 30550033 5552 e36°D09 lelutle
BRO%0ET0" - H0I ToErgol (FIBES” e 0T (980D

28 V&0

1. (©ergdg
2. 3“35355"65
3. S°8%

4. REPEE

130. This is to be done during earth quakes

1 Supply of electricity is to be continued

2 Use lift in multistoried buildings

3. Be away from breakable things like mirrors, windows etc.
4 Stay closer to the buildings, bridges, trees etc.

SrEOFed SY)THE BAOTODIO

1. 3)65355 DEHoPS Dorerosone S RO

2IT0Y VOB FITOE® YD EHBTA0TO

ore, 388 $063 VAT TYo®H Ersor &owd

L

PS5, (DGeo, Bexw S0 38 WD’ &ozd



131. In this animal, the skin performs the function of ears

1 Bird

2 Snake

3. Lizard

4 Crocodile

B2 20S0HS” TPeo FD B S 0 B0

1. Zaé
2. TS0
3. 238
™
4, 3038

132. The best example for shrub type of plant

1 Rose

2 Bitter gourd
3. Jasmine

4 Ridge gourd

Fe5e0 S TOBS DK, K H0D SIS

1. o)
2. 358
3. 58
4. By



133. Kharif crops are grown in this season

1 Rainy season

2 Winter season
3. Summer season
4

Spring season

POD Poeren HDOT TPO0

1. ST°Z°0

o\
2. B arsre0
3. 000
4, FQ0BT0

134. The main element present in chlorophyll is

1 Phosphorous
2 Magnesium
3 Calcium

4. Nitrogen
g°

5%S5S° &0t (PES Soreso

1. zp%osdo

2. 33&)3&0530

3. 5290300
o

4. NGIN



135. The percentage of Oxygen in exhaled air in a human being is
SPPE DFFROD FAS0IHS® Ko ey TS0

136.

1
2
3.
4

18
4.4
16
21

This plant reduces the dissolved Oxygen in water and causes to the

death of water organisms, animals and plants

1
2
3.
4

Vallisnaria
Avicinea
Pistia

Eichhornia

HBS® B8RS 531308 SR0D BOBT L, ABD o
S5 ?6&536535 308,

1.

Ll

TODI0AST
S0ETe
[A]
RYereud
[A]
EHEE),



137.

138.

In Srinagar tourists live in boat houses called
Igloo

Donga

Apartment

Duplex

SKES® 5| @Hen ASVOT HEIRHH T BOOTD

B AW N e

g
&Eorr
e&ff’éﬁooég

WD

Decrease the use of non-renewable resources and increase the use of

renewable resources. The renewable resources are

1 Natural gas, coal

2 Petrol, diesel

3. Kerosene, Hydro energy
4

Hydro energy and wind energy

SORAFEH 0ETe TEE0 SAOY, STK FOSTOD
EITTAOBE ) 0T, SBANF FESIToe

L SES mfS, 571
?,3@3’503, &as
25°R, e}
IS, md¥

L



139. The wind always blows from one place towards another, due to

1 Gravitational force, rotation and revolution of earth
2 Power of the earth

3. Rotation and revolution of earth only

4

Gravitational force of earth only

O JYIPE 2.8 (HBFO 5008 08”8 (HBTAS AT, &0e008,
QOLOE 80

1. AUS Nl EMEASITANSECICHEAS N eT(atTclo
2. 2 Bw¥y, 9

3. PHenn 5850 4 SIS0 SeH
4. 2 e88nEd SrED

140. Discipline and division of labour can be seen in the colonies of these

animals

1 Birds

2 Bats

3. Ants

4 Silk moth

(E5085es, B APeS B2 20HYPO TOIOS’ STESE).

1. Zagsen
2. Kﬁ)z)em»
3. DSoe0

4, HEHEK

[o)



141.

142.

The percentage of water vapour present in air is called
1 Atmosphere
2 Humidity

3. Rainfall
4

Atmospheric pressure

mOS' IBBID PSR T WOLTLD

1. P IB 0
2. esgé
3. SEPe30
o\
4, TS HESO

Marasmus is due to deficiency of

1 Proteins and calories

2 Water and carbohydrates

3. Minerals and vitamins

4 Fats and oils

0700 T4 S §'H0 FoF FewH>E08
1L (e, sodew

2 N, DOGHTT e

3. PIVOIETOR), IO

4 (§7ge0, SovSe



143. The first large scale electric power plant was build in America by

1 Luigi Galvani

2 Michael Faraday

3. Hans Christian Oersted
4

Thomas Alwa Edison

05" grBiyon S &SHBZ0(EY) LLOAST

1. SO merzgﬁ

2. IS >

3. Q) $R00S wonbpé
4. T0 o DS

144. The pollutant released from ore refining, battery manufacturing and

automobile is

1 Fluoride
2 Chlorine
3. Lead

4 Ammonia

So&pdEre DY, a7°§e38 S80S’ H8050 TP o0&
INISOINTS) S°e>o§a§s°6§o

1. ;’&5
2. §:)65
3. 50
4,

IJT° &f\’)oﬁr



145.

Methodology — EVS - Paper-I - Set — XXX

Explaining the role of medical and health departments in preventing
and curing a number of diseases in teaching of Environmental

Studies develops this value

1 Intellectual value
2 Vocational value
3. Utilitarian value
4

Moral value

&3E 8ot AE°Rome O erHBceS” P56ty TP
Eo8) T\ 00D HBXTO JpS F'EIS ITREH ISB0SE
OX0° S DOFOBOBAO DQOS.wrrsens

1 23”g§ RISUINS

2 ;53@23%&5 RISUINS
— X

3. GEIRDIAS DS

4 JBE s



146. To teach the lesson “Cell — the basic unit of life”, in lecture method

147.

the suitable concept from among the following is .............

1
2
3.
4

Discovery of the cell
Unicellular organisms
Shapes of different cells

Extracting the peel from an onion

EITGO DEB SIBTAOTOE “Eermn-BII0B0Y), IFOS
(PS°£30” &R JBOS® BAS GI°SS.eueeernnns

1

2
3.
4

5§30 8333?%68'3

DNEger AHew

DG BETPO €35°0°L0

GOFCD0E FES> HAHEO (Extracting)

To explain the concept of “Weeding and Harvesting” the best type of

learning experience is...........

1
2
3.
4

Demonstration
Field trips
Exhibits

Dramatization

“Se0%) DOHEO0 OG0 HoerElSM” 69T 4SS SO0
DSYPESK &S ©ZIFIS OIS TES....

1

2
3.
4

(BEG)S500
E{QRICREY
Rate)gis
T 855850



148.

149.

The type of test useful to test the pupil’s content knowledge and skill
in interpretation ...

1 Short answer

2 Very short answer
3. Essay

4 Completion type

PG INCDH BOILTI TA H3500T FYergo
BOE DO GHBrROD G w8 %0...

1
2
3. s"agmir‘éa
4 PPPD OO

“Prepare a cartoon on poultry and gardening”. The activity is related

to this academic standard....

1 Information skills and projects

2 Communication through drawing, model making

3. Conceptual understanding

4 Application to daily life and concerns to bio diversity
“5°%) DODTO, 0K © DOVEOP IJT® &8 ST
SOIPEHBA0E”. Ha YEgA8 H020LODS ATYHSTE0....
1 RIS DESEd PYeTgeo - (FEQeo

2. 5o Adbdo - Saraes SariHBahEo

3. DAATPINCTS

4. @) o5(0DH0, BSIIE0 D FPUTS SOA 00



150. Diagnostic tests are used to find the pupils .........

1 Level of achievement

2 Personality

3. Creativity

4 Learning difficulties

SHATer DEFew IT§RE BoY) OID BLoWERODH TEEWD...
1 JEJ° %oao
2 3535"_6085395033533
3. 263235"&&&3
4

@2;55265" 635326503



